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1 K IEF 39 36 75 0 75 L—k| 51 was B= 49 42 91 0 91
2 AR A 38 37 75 0 75 @) 52 AR ET 46 45 91 0 91
3 WA Rih 37 39 76 0 76 —F| 53 EAX E 45 46 91 0 91
4 FELL BE 42 37 79 0 79 @) 54 FE ME 45 46 91 0 91
5 ER == 40 39 79 0 79 @) 55 FHith = 49 43 92 0 92
6 BHF # 39 41 80 0 80 @) 56 mAa 8= 46 46 92 0 92
7 BIE EE 38 42 80 0 80 @) 57 BHA Rk 45 47 92 0 92
8 IN& BIL 38 42 80 0 80 @) 58 WA EHi) 44 48 92 0 92
9 hE W 44 37 81 0 81 @) 59 BR HErE 43 49 92 0 92
10 FER 1E 1 40 81 0 81 @) 60 i g 47 46 93 0 93
11 TH IgE 44 38 82 0 82 @) 61 Wy (&g 46 47 93 0 93
12 +E EX 43 39 82 0 82 @) 62 Bl EXx 46 47 93 0 93
13 A 40 42 82 0 82 @) 63 BH {EH 45 48 93 0 93
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15 FE OZE 44 39 83 0 83 @) 65 EH R 47 47 94 0 94
16 IhNE 5P 43 40 83 0 83 @) 66 B EE 42 53 95 0 95
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21 e &8sk 45 40 85 0 85 @) 71 =2H &3 50 47 97 0 97
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23 A R— 44 1 85 0 85 @) 13 Brir 1 49 49 98 0 98
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30 I e 44 43 87 0 87 80 &R fEX 52 51 103 0 103
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32 Bl EB 42 45 87 0 87 82 Al R 53 52 105 0 105
33 HIA BA 41 46 87 0 87 83 FL BT 57 49 106 0 106
34 =HIE IEA 48 40 88 0 88 84 A+ #FHE 57 49 106 0 106
35 fRA IEi&E 44 44 88 0 88 85 mtE & 58 54 112 0 112
36 1T bt 43 45 88 0 88 86 ® ET 60 58 118 0 118
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